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Importani Instructions :
1. The Answer Sheet is inside this Test Booklet. When you
are directed to open the Test Booklet, take out the

 The CODE for this Booklet is WW

Answer Sheet and fill in the particulars on Side-1 and
Bide-2 carcfully with blue/black ball point pen only.

The test is of 3 hours duration and Test Booklet
containg 180 questions. Each question carries 4 marks.
For each correct rosponse, the candidate will get
d marks. For each incorrect response, one mark will be
deducted from the total scores. The maximum marks are

T20.

Use BluaBlack Ball Point Pen only for writing
particulars on thig page/marking responses.

Rough work is to be done on the space provided for this
purpose in the Test Booklet only. :
On completion of the test, the candidate must
hand over the Answer Sheet to .the Invigilator
before leaving the Room/Hall. The candidates are
allowed to take away this Test Booklet with them.

. Make sure that the
CODE printed oo Side-2 of the Answer Sheet is the
same a5 that on this Test Booklet. In case of discrepancy,
the candidate should immediately report the matter to
the Invigilator for replacement of both the Test Booklet
and the Answer Sheet.

The candidates should ensure that the Answer Sheet is
not folded, Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Test Booklet/Answer Sheet.
Use of white fluid for correction is not permissible on the
Answer Sheet.
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(1)  26-8%

(2) 6-25%

(3) 20%

4 12-5%

ﬁmmﬂmamaﬂﬂﬂm@:m}
uE Yl & agvEs A gEre W o w o A
yate g st 2

{ﬁmwt:

SIS 3 S F1 T (m) = 276 105 kg
e i k., < 1-38 » 1023 K1)

(1) 2508%10°K

(2) 5016%10°K

(3) 8860%10*K

_)dszﬁum‘x
Rl g9t o3 e &t e omafh i e i
% T R () s % e
AR = oAt e i e 20 om &, 7 @S A
YR i T g

The elficiency of an ideal heat engine workin,
between the freezing point and boiling poing b
water, is '
{1} 26-8%

(2) 6&20%

(3) 20%

(4 12:56% |
At what will the Tms speed of

oxygen molecules become just sufficient g,
escaping from the Earth's atmosphere 7
(Given : '

—2
Mass of oxygen molecule (m] = 276 % 107 kg

=23 -1
Boltzmann's constant kg = 1-38 x 10 J K™

(1) 2508 10° K
(2) 5016 10°K
(3) sa60x 10°K
4) 1264 x10°K

The fundamental frequency in an Open orgar
pipe is equal to the third harmonic of a close
organ pipe. If the length of the closed organ pips
is 20 em, the length of the open organ pipe is

{1}» 132 em

(1) 132em
(2) 125em @ 12Gen
(9 Bem @) 8em
4. Tl wewmm & s o0 8 A T & A The volume (V) of a monatomic gas varies wit]
A amhn i R | swEm A @ its _tamperamr& (T), as shown in the graph. Thy
B ok 3 ' ﬁ:ﬂ'ﬂ'mﬁﬂ i MR Iﬂhﬂﬂfﬂ&::‘]i done by the gas, to the hea
Ay TR L absorbed by it, when it undergoes a change from
T G S S 1 A state A to state B, js
v v |
B ' B
A A
0 — 0 i
2
(1) = 1 2
5 ( 5]
@ X g9 1
3 { .] E i
E ]
@i -= 9 2
3 @) 3
2
4 = 4 g
7 - (4) 7
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Wi deh st sy 0 o B B A,
weEn BE (F o ofiedl B) @ w2 b &
et = e w1 o & ) R o
FEH WE |3 0% de w w6 5tz 3o

|

Yy b
0 —=n
|

@ 1
0 -1
.

(a3 T
L] =3 1.

1N

O —=n

(47 £ 4-7) k) Thatty ¥ Tl welasfittes =, e

W fo, Fafim avil & wew siften fo wm § | ool =g |

A battery consists of a variable number ‘a’ of
identical cells {having internal resistance ‘r’
each} which are connected in series. The
terminals of the battery are short-circuited and
the current I is measured. Which of the graphs
ghows the correct relationship between [ and n 7

1) T]
0 —=n
a1
+

() | .
] —Il
1

(3 T
0 —M
I

w 1/
i —* 0

‘W B B 6. A :hﬂn resistor of (47 £ 4-7) kQ is to be marked
- . wi rin i i
. (1) &l —dren ~ woft =i o L idanﬁ.ﬁca&sﬁ. "Iia ;ﬁﬂ;e sﬁzze ‘-:Ei bBllE
(2) em-gn —iﬂﬁ—ﬂqﬂ R (1) Violet - Yellow -~ Orange — Silver
" i - Frf i) = O (2) Yellow — Green - Violet— Gold’
(4) ®Q — Tt —#ﬂ'—ﬁ:—‘ﬁ?ﬂﬂ : \f (3 Yellow — Violet= Orange - Silver
(4) Green- Orange - Violat - Gaold
T.. ‘o’ wEEn gfEtes w1 ages, Gl e w e
'R #, dvfigm § fmam (emh), B ol = {7, A set of equal resistors, of value ‘B each, are
e, ‘R Bt dft & wdifm & ) 320 9 ot connected 'in series to a battery of emf ‘E' and
a1 % | W g ahreE w5 aed A gt 42 internal resistance ‘R’ The current drawn is L
ﬁﬁhﬁhﬂ‘rm%tﬁiﬂﬁﬁﬁ“ﬁﬂmlﬂ'ﬁ Now, the *n' resistors are connected in parallel to
ol & | the same battery. Then the current drawn from
battery becomes 10 I, The value of ‘o' is
(1} 10 (1} 10
(2)° 20 2y 20
P11 @ 11
@ 9 4) 9
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8. e wer sreeh ez 1 v Gl 5 divimA |8, Current sensitivity of a moving coil galvanometer
sl dieem wofem (g 3 dieem @ e Sl is B divvimA and it-s voltage aen?m-rllw {ﬂnslula:
: 3 deflection per unit voltage applied) 15 20 div/V,
FRE) 20 div/V 31 78 ARSI o0y § The resistance of the galvanometer is
(1) 400 (11 400
& 300 (2) 2508
@' %a @ 250
() G008 (4) 5000
9. 05 kg m™! U ¢ T g ) el o (9. A metallic rod of mass per umit length
it o5 W 0 fed WFE A W oS a4 a0 05 kg m~' is lying himmﬂr Irmu;ta;nmg&-
5 i incli ich m an amgle W
W W YW oy R o P T e allowed to slide
ar vETfEd e A T R s e down by flowing a current through it when a
0-25 T 3 1 Fraehig &9 st fom i w5 0 0w magnetic field of induction 0:25 T is acting on it
= % o e & R ol vl w2 in the vertical direction. The current flowing in
(1} 714 A the rod to keep it stationaty 18
(2) 1476 A (1) T14A :
(3) 598 A 2y 1476 A
(4) 11324 (3) 588A
10 R R & i (4) 11324
: U el B3 Featm ffm § | oW fegges #§ qm| 100 A thin dismagnetic rod is placed vertically
| wafea W e &, A 9w o A gl 8 & T .h'Et-WEE“‘ﬂ“-‘PHIE'-‘E of an electromagnet. When the
T H 3w @ A B | 56 TR 9 o e carrent in the electromagnet is switched on, then
e :ru{‘f. SHspal e i) ﬁ'ﬂ t,]:ual dmmagnetm-r::d is pushed up, out of tl,he
T horizontal magnetic field. Henece the rod gains
| = wm B gravitational potential  energy. The work
| (1) ﬁgﬂ "l . required to do this comes from
' (2) g H e & R (1)  the current source
(3) W i {2)  the lattice structure of the material of the
| @ Hfen g o s o] g B @ I o
G b (3) the magnetic field
' (4) the induced electric field due to the
11. 20 mH %1 % 3%, 100 oF F1 #7 Qi w91 50 O changing magnetic field
=1 % i, faa. o= (emf), V = 10 gin 314 t|11. An inductor 20 mH, a capacitor 100 uF and a |
& et W o Aot Wit 8 ) =g o § wie resistor 50 (2 are connected in series across a
W R source of emf, V = 10 gin 314 t. The power loss in
1 o the circuit is
:Ei 274 W iy g
{2y 2-T4W
fah G (@) 043 W
e 2R (4] 113W
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12. % "= 15 em W 3 & Rl s ol 3
40 em 0w fm B | af gw e = oo o) R

20 cm TRFEE W fm m, T wife B of
. fawnfim w1 wmom 9

(1) 30 cm 3P0 & 1
(2) 30 e 2w & g
(3) 36 cm %M A g
(4) 36 cm T & TH
o |1
13, < Paga e wm et e i v - v @
T W W R R e g i
Fande B 4y am % wghn 21w W
fora- e win & e 49 e 1 fm ool
(1} =-zfEm
(2) —yfm
& vl
(4) —xfem
14, Bt T0E & 60 mA & T waET W v ow | | 14
wifem gradg R sl &1 99 25 md # | 59 I
I WE B >
T b
(2 1389 H H[,a*lﬂ ve ‘9
(3) 13888 H 2. W
a,w"w-asﬂ ?’//
v ' 1. 15,
15, fiet firm % el 0 J2 3R firem = W
30° & | Tem & Tl # @ wE W A
g i F 3 zdm wm T | gE e A
iy w3 T T v F g (2 A 7
# watda g9 % TvEH) IHT OW 91 ST A, |
afz i W ST B AE R
(1 60°
(2) 30°% Sﬁ"
__;3-)/35“
4) 7

4n ohject ia placed at a distance of 40 cm from a
concave mirror of foeal length 15 cm. If the object
is displaced through a distance of 20 em towards
the mirror, the digplacement of the image will be
(1) 30 ¢m away from the mirrer

(2] 30 em towards the mirror
(3} 36 cm away from the mirror
{4} 36 em towards the mirror

An ¢m wave is propagating in a medium with a
velocity ; - Vi. The instantaneous oscillating
electric field of this em wave is along +y Axis,
Then the direction of oscillating magnetic feld of
the em wave will be along

(1)
(2)
(3
(4}

- ¢ direction
~ y direction
+ 2 direction
- ¥ direction

The magnatic potential energy stored in a certain
inductor is 25 mJ, when the current in the
inductor {8 60 mA. This inductor is of inductance

(1) 0188 H
@) 1380 H
"(3) 13888 H
() 11389H

The refractive index of the material of a prism is
2 and the angle of the prism is 30, One of the
two refracting surfaces of the prism is made a
mirror inwards, by silver coating, A beam of
monochromatic light entering the prism from the
other face will retrace its path (after reflection
from the silvered surface} if its angle of incidence
on the prism is

(1} 60°

{2y ar

3 45°

(4) zero
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T

fr m o i@ A, FRT @ (V) 20V,116. In the eircuit shown in the figure, the inpy

Vg = 070 Vg =08 1| Iy, 1o ol % v ot voltage Vi is 20 V, Vgg = 0 and Vgg = 0. Th
= values of I, T, and [i are given by
20V
Re < 4k
Rg 5
Lt
500 kL L

(1} Tp=40pA, I;=10mA, B =250
12} Tg=20puA I~=0 mA, f=250
(8) Iy=25puA, Io=5mA, B=200
4) Ip=40pA To=5mA, =125

(1) Ip=d0pA, I, =10 mA, =250
(2} Ip=20pA, I =6mA, =250
3) T3=25u, Tom=6ma, B-200
AT 1= 40,A01 = bma, p= 125

. Tt pon i T E A gheda
we Wi Wi 17. In a p-n junction diode, change in tempers
(1) iﬁﬂﬂ?ﬂ{'ﬁﬂﬁjhﬁﬂﬁﬁrmmtl due to heating
(2)  pn W 3 wfiring ) ey 587w N SggeFlyrurerse resistance
12} does not affect resistance of p-n junection
(8) et sm sfii # k) {3) affects only forward resistance .
)/pnﬁﬁ#mvnlﬂﬁﬂwiﬁmm (4)  affects the overall V - T characteristics
&

. p-n junction

18. In th binati Cof the low
18, ﬁiﬂmmﬁﬁ*ﬁﬂﬁﬁ'ﬁ‘fﬂﬁhﬂﬂm n the combination following gates

output Y can be written in terms of inputs A a
B 931 # 90 v = e 1 s 2 Bas '
As Ase
Be— % B ¥
(1) A.B () A.B
2) A.B+A.B 2) A.B+A.B |
3 A.B+A.B @ A.B+A.B
4 A+B 4) A+B
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20,

21.

(1} woaffa wwm ghem ¥ o ww frgy ofw

FEE A T & Rl wee ge w e
WA W A & e wE @ | R e
U R T W R W R et e
et Tl U o e § | Frefde § 8
= fawen gn e d wdt & ¢

I % T & e R

-l

TEita e glE ¥ sl g o wf
ST F 7 e 1
(4)

+ vt

am % fiferft waim &, Brfeat % e o d, 2 mm B
e firft & o2 ff g D #1100 em 7@ T AT
ko= GB9S A ¥ WM W T R T E | g9 9
w5 il 1 =iofr <end 0200 ® | 79 (= 0 SR
D % for) feil & winfra <tgr =t syt 021° %3

(2)

{3}

& Tom it & <= % gusa =1 = B
{1) 18 mm "l,f"“m.
o b ‘NP

(4)

f
frdt miredi mﬁmmﬂﬂnﬂwamé;ﬁm
sl wifty fodien 7= @, ot v gy o 6
e g %0 aft = w9 e

e it s s s a9

i gt arfaw st s o 8
wied it w8 aftt = o B

{1}
(2}
(3
(4)

v 2V %
Y2 gD

19.

20

21.

Unpolariged light is incident from air on a plane
surface of a material of refractive index 'y’ At a
particular angle of incidence 7', it is found that
the reflected and refracted rays are
perpendicular to each other. Which of the
following oplions is correct for this situation 7

Reflected light is polarised with its electric
vegtor parallel to the plane of incidence

= gin |f1J
M

(1)

{2}

Reflected light is polarised with its electric

vettor perpendicular to the plane of
ineidence

(3}

(4) i=tan’ r-}
. L

In Young's double slit experiment the separation
d between the slits iz 2 mm, the wavelength A of
the light used is 5898 A and distance D hetween
the sereen and slits is 100 cm. It is found that the
angular width of the fringes iz 0-20°. To increase
the fringe angular width to 0-21° (with same A
and I} the separation between the slits needs to
be changed to

L1}
{2}
(3
(&)

15 mm
21 mum
1% mm

1-7T mm

An astronomical refracting telescope will have
large angular magmification and high angular
resolution, when it has an objective lens of

(1) small focal length and large diameter

(2) large focal length and large diameter

{3} large focal length and small diameter

{4) small focal length and small diameter

ALHCAMW /Page 7
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22. Fefl s T afeper 3 |28, A tuning fork is used to produce resonance in
m&gz ﬁ:_rﬂﬂ u ﬁgﬂf . glase tube. The length of the air column in  this
W, Fo, e mn R, foref =g wy tube can be adjusted by a variable piston. Ay
?Mﬁ%ﬁmmmﬂﬁﬂ o = T reom temperature of 27°C two suctessiv
| 27°C % W9 W T S @ 20 cm 0 resonances are produced at 20 cm and 73 em of
column length, [F the frequency of the tuning fork
;;';Iﬁ o ﬁmﬁ"'ﬂ'“ "F ﬁ'“ “ﬂ:ﬂﬁg | 3R ;ﬁh i5 320 Hz, the velocity of sound in air at 27°C is
g e B WAWERCR () %0
T — (2) 350mis
D 350 ol (4) 339mfs
@) 359 mfe (4) 300mfs:
4) 300 mis 23. A pendulum is hung from the roof of =
sufficiently high building and is moving freely to
3. ﬁmmmﬁm?ﬁfﬁﬁmﬂaﬂr ﬂﬂdﬂ'ﬂﬁkﬂaaimplahmnicmuﬂlamr.ﬂl:e
FE A g il g s @ s il = ﬁﬂﬂlﬂrﬂﬂﬁﬂﬂ. nl;i the bn:fq;f th;mi?n:::.“iuﬁe;
20 m/s™ al a distance m e
E:E:}E‘:T;q'ﬁmm bl ’iﬁ q; T i position. The time peried of oseillation is
2 ; = 111 2ns
0 (2) 2s
(2) 2= 8 xdl
3) =ms 4 1e
4] 1s !
24. The elactrostatic force between the metal plates
24, FEW Q % fFf fw wew o awa o 6 of an isolated parallel plate capacitor C having a
S A el Ui o aieadl o d fRdg o FERa Syt area A, is
(1) wfEms & ity 2w Fsky = o | (1) i;:g:;;endent of the distance between the
2 _ﬁmi 3 % N Eﬁ ¥ E. A (2} proportional to the sguare root of the
[ distance between the plates.
(3) efEma & @ 30 % ewn spae (3) linearly-propartionaly, to pthe distance
o # _ : betwsen the plates.
(4)  wfgred i o i gl % sgreREa B R (4] Whemﬂ to the distance
een t fles.
35, N i mmﬁﬂ An electro MF’; t through a vertical
' = n eie I g Imm res I:IIJE a
st fr-ar B A = @ d gl b, Fea # ) e Bbaiica b ks a indlorn, el vaetiaally- npwatd
ﬁm-ﬁa w1 ufmm sfaffa wEm i T fm directed electric field E. The direction of electric
Torfim w A wEt & | fed A w0 R A field is now reversed, keeping its magnitude the
same, A proton is allowed to fall from rest in it
Tl ) et gt b ok v et fon o & ) el Hrngh the waie vertinal distancs 1. The time of
tﬁﬁﬁhmmﬁwﬂzﬁﬁhmmﬁ fall of the electron, in comparison to the time of
Torm = w fall of the proton is
(1) wm (1) smaller
(2) 107N i (2) 10 times greater
(3) ST firs (3) 5 times greater
(4) wER ) equal
ALHCAMW Page & T % o T8 e / SPACE FOR ROUGH WORK Hindi/English
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28, T I T G T A ARG S & T

K> Kps K

S 9 i dfgein w3 wfim m ) S
Enmcmnﬁamﬁm;ﬂg,ﬁﬂmxﬂil

AC i s & e i) R w8 g 4
WY ACT 7w # | ww

b

(1) lﬁkdl‘iﬂ <Ke
(2) Kp<Ky<Kq

@) Kp>Ky>Kg

Y T i () % W g mhw sl
() M ERft | 8 R K, (K, + K ) 5 e

i L,

) 7:10 K—"r)\ B
(@) 10:7 5 v
%““ fr

T FY W YA e OTE R | §E e W e s
e o fem § gfg & oo @) i s
faferfign # & #1a.d) ifaw of fEw i 2

(1) i E

(2) o i =

(3) g

(4) hivi wEn

aﬁqﬁm:ﬂmﬁpﬁramaﬁfﬁmgﬁm
frrrs wfm 6 10 0 @, @ Frefafea d @ s
wE AT R Y

(1) adi i 43 ult woafies #oft @ )

(2) 9o W wE e W AT A A
(3) urdl w Fen wiftes wfEm B oA o

(4) geft w6 w ot Tl

26,

The kinetic encrgies of a planet in an elliptical
orbit about the Sun, at positions A, B and C are
Ky Kp and Kg respeetively. AC is the major
axia and 15 perpendicular to AC at the
position of the Sun S as shown in the figure.
Then

(1) 'K, <Kp<Kg
(2} Ky <K, <Kg
3 Ki=Ky>Kq

I:_Ii:l EE_} Klil:"Ecn

A solid sphere ie in rolling motion, In rolling
motion @ body possesses translational kinetie
energy (K;) as well as rotational kinetic energy

(K,) gimultaneously. The ratio K, : (K, + K for
the sphere is

{1} 7:10

{2y 10:7

31 6:7

{4 2:5

A solid sphere is rotating freely about its
symmaetry axis in free space. The radive of the
sphere is increased keeping its mass same.
Which of the following physical quantities would
remain constant for the sphere 7

{1}, Angular velogity

(2} Rotaticnal kinetic energy

{3) Moment of inertia

(4) Angular momentum

If the mass of the Sun were ten times smaller
and the universal gravitational constant were
ten times larger in magnitude, which of the
following is not correct 7

(1) Raindrops will fall faster.

(2) Time period of a simple pendulum on the
Earth would decrease.

(3] Walking on the ground would become more
difficult.

(4) ‘g on the Earth will not change.
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30, A tov car with charge q moves on a frictionleg,

30, = figelm wn fm W sw q ¥ FE OREAE
-+ fure A horizontal plane surfacy under the influence of ,
LT E % v g uniform eleetric field E . Due to the force qE
W A § |G d % e § 9 g E its velocity increases from O to 6 m's in opa
FAW foE AN 0 W 6 omis W o & | 3 am second duration. At that instant the direction of
-t #t fem ansfim = & =l AR R R ] the field is reversed. The car continues to Move
T W A 2 ferE aw TR et w2 0.8 for two more seconds under the influence of thig
3 de & e R we d o dn afoalm| e s, an
-] twoen
= e respectivaly
(1) Z2mfs 4m's {1} Z2m's, 4m's
(2) 1lmfs, 35m's {2}  1mfs 36ms
(3) 1mfs, 3 ms (3} 1m's, 3mfs
(4) 1'5m/s, 3m/s {4) 15 mf, 8m/s o
31. ¥FA B 8 F fRi fae s 39 ABC W om |91, A block ufmnssmiaplamd%n asmlgu:rth uq:l::;ﬁd
. W ¥ inati AS SN0WIN 10 e
e e g e |l Ak e 6, o
W FE W ‘8’ fom A ¥ | i w3 w R towards the right. The relation between a and @
g F o a ol 0% = wam gm for the block to remain stationary on the wedge
i |
A ig
2
. Ly
a
a
C B -
C
(1) a=—2 [ @,
: cosec @ i 2= — .
(2) amgcos® et
g (2) amgeoxd
{3 a-—gmﬂ s .g
(4) a=gtan@ Bk .
= § a i . {43 -H.‘—_gt-EIIE i 4 A : A A
32, feg (2, |::'-_—3}""'{"':'“f“T’Iilﬁ F=4i +5) -6k ¥135  The moment of the force, F = 41 + 5j — 6k at
firg (2, - 2, £ 27% Ty syl gm (2, 0,473), about the peint(2,= 2, £2), is given by
ay Lad M- &% ~8i -4] -7k :
@ -7i -8 -4k @ -7i-8j-4k "
A A A f A
(@ -4i-]-8k @ -—4i-§-sk {%v
@ -71-47 -8k (4) -Ti-4] -8k ;
33, ol v 3 sogm o =y g & =E A AM 0001 em |33 ;:Ej:.udeqt measured the diameter Igf:; HTTH sl:::
AT using a screw gauge of least co
mﬁhmﬁlgﬂ%%“ 0001 cm. The main scale reading is 5 mm and
5 mm aft gefta S W g W wEE 8 25 W zero of circular scale division coincides with
FH } | aft B A § s 37 - 0004 em R, 91 7 a5 divisions above the reference level. If screw
= WE = B gauge has a zero error of — 0-004 cm, the correc
diameter of the ball is
(1) 0-521 cm |:1} 0521 em |
(3) 0525 em (3} 0O-525cm '
i4) 0528 em 4} 0-528 cm .
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(1) Ve e ¥t s o gy X
ipbge ! L
=Rl
Wﬂm?;ﬁ ati b
/ﬂ?ﬂmﬁMMﬁm#m
RSk E e —
=) T C (T e wa), e e o0,
mMmﬁmRtm%mmHm
mﬁ;ﬁmmﬁhﬁmwa
#—mﬁumg?ﬂmmw[m%m
(L We>Wy=W,
(2} Wy>W, > W, 1;3\ ?{:1
g/meA}WB:‘wu
() Wy >WesWy 0,
6. Wﬁmﬁrmqﬁﬂlﬁﬂﬁﬂ,mmﬂ#ﬁmm

?ﬁﬁ‘ﬂﬁ;ﬂmmt | 79 % wrEE T
T fam SRR R R NE RS T
AT W v B, & v T (o) 1 AE e
(1) 058

(2) 08

(31 025

4y 04

37, e H zmie sEem e bW i v | 87,
orom srEen o woet aren wiE fvg, =W AR = D%
Fea g w5 d-d g wen ) @ e b

Which one of the
incorrect T

(1}  Rolling friction i smaller than sliding
briots

(2)  Frictional force opposes the relative motion,
{3) Limiting value of static fliction is directly

following statements is

propertional to normal reaction.
(4) Coefficient of gliding friction has
dimensions of length.

Three objects, A : (a solid sphere), B : (a thin
cireular disk) and C : (a circular ring), each have
the same mass M and radius R. They all spin
with the same angular speed @ about their own
gymmetry axes. The amounts of work (W)
required to bring them to rest, would satisfy the .
relation

(2) Wg>Wa>We

(a3 w‘_ > WB > w,:

{‘ﬂ WA. - Wf_- - WB

A moving block having mass m, collides with
another stationary hlock having mass 4m. The
lighter block comes to rest after collision. When

the initial velocity of the lighter block is v, then
the value of coafficient of restitution (&) will be

1y 05
(2) 08
(3) 025
4) 04 g

A 'body initially ‘at rest” and gliding along a
frictionless track from a height h {(as shown in
the figure) just completes a vertical circle of
diameter AB = D. The height h is equal to

B
1‘ ' *‘ B
3 i A
%D 3
? (1 2I:.*
p z
B (2) z D
D (3 D
B y =
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J8,
39,
40.
*
i
z
*
41

el
rﬂ

@ m

@ @

W o 0 :f
ALHCAMWW Paga 12

o am anr werd & wR # ofi 2F e ol E@EE
# | vEet o ) sEEE R W SEe A O g W
e W e 3A § | 3R =m P @
et am o e § Al @ afy w3, 6w
v A oyt f a3l w0 & R el v
WTETFAT it 9

(1) 8F

{2) 4F

3) 6F

4 F

HEH T4 (1013 « 10° Nm?) o 100°C 9 @
0l g T8 & T F 100°C 1w # ofiafliy w9 %
fer 64 et o wul B v B 2 | AR
IR WM H W 1671 cc B, dogm Aw w
= S 1 i A

(1) 10437

(2) 4223

(3) 20874

(4) B46J

et o gm R @i P 2 W o i,
by W e wal ffefs =6 8 | am 3R

Fieem ® a wfEia w2, e o
%Anﬂﬁﬁﬁmmﬁﬁwaﬁiﬁmwtﬁ

vk g i o oP @ St & | oW aE A

(y 3
4

256

(2) B

3]

= -

W

256
T o w1 w2 g e femaeen & o) vam 23 6
i 8 | W W@ & S vl e aew A g
ME F sfm (o) I W o owaw @ om

38,

39,

41.

-
i
f

Two wires are made of the same material ﬂuﬁ
have the same volume. The first wire by
cross-sectional area A and the second wire
cross-sectional area 3A. If the length of the firy
wite is increased by Al on applying a force ¥
how much force is needed to stretch the secong
wire by the same amount ?

(1) &F.

2 4F

(3) 8F '

(4) F

A sample of 0-1 g of water at 100°C and normg
presaure (14013 x 10° Nm™ requires 64 cal of
heat energy to convert to steam at 100°C. If the
volume of the steam produced is 1671 cc, the
change in internal encrgy of the sample, is

(1) 104-3J

(@ 4224

(3) 20874

(4) B45J

The power radiated by a black body is P and it
radiates maximum energy at wavelength, L. If
the temperature of the black body is now

changed so that it radiates maximum energy at

3
wavelength i Ap. the power radiated by it
becomes nP, The value of nis

3

] E_

LI
56

2 .

@ 2

@3 1 :
: |
81 |

I e

{4) Sic |

"". small sphere of radius ‘¢ falls from rest in a
viecous liquid. As a result, heat is produced due
to viscous force. The rate of production of
when the sphere attaine its terminal veloeity, 18
proportional to
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Scanned by CamScanner



- il

42,

S AV o=y, | (Vg > 0) 3t 7sm m
w1 ﬁ‘ﬁ:ﬁ frhl i £ - g, |
(Eg = 0% > 0) 3 ¢ = 0w it e 2 1 2 o

\© < NY

An electron of mass m with an initial velocity
;F} =¥o i .Wﬂ = ) enters an electric field

TE‘F --Eu,? (By = constant > 0} at ¢ = 0, If Ay s

i34 ﬁﬁh il &‘fﬁﬁ Hiﬂtﬂ g MOt its de-Broglie wavelength initially, then its
Tl 2RI e wdt de-Broglie wavelength at time t is
(1) L (1) _'*_D_..
g )
THy \ “mW¥,
@ gt ”y
i [ eB
(3 1+—0¢ i b,
lﬁ [ mvn ] (3} fuy ,L.L -I'-'—'—mvu ]
4 A L
iacti 1 half-life 1s
43. Td tfenEE v 43, For a radicactive material,
AR iR Eﬁ W iﬁ I;ﬁ 10 minutes, If initially there are 600 number of
- il M’ il qﬂ_-—-—-—?——" nuelei, the time taken (in minutes) for the
._ﬁﬁ 3 T e (e ) & disintegration of 450 nuclei is
@ g 2 "
_ﬂ”ﬂ 10 d“ﬁ B (3) 10
0 15 e [0l 4 15
\ S
E@ﬁmﬁﬁﬁﬁﬁmﬁﬁﬂlﬂﬂﬁﬁﬁ The ratio of kinetic energy to the total energy of
e e an electron in a Bohr orbit of the hydrogen atom,
i 1 afi TR F Tl W A R -
@ 1y (@ gLy
(@ 28-1 (o) 2L
{3] 1:=1 [3} 1¥-1
@ 1:-2 @ 1:-2
45. W et wg & g WA 2 (T v aﬁﬂ 45. When the light of frequency Zv, (where v, is
S &) 1w SO O 8, A I g threshold frequency), is incident on a metal
w1 sty 30 vy 3 | W st Fafewi @ amfe plate, the maximum velocity of electrons emitted
Wﬁmﬂﬂmg1ﬂﬂﬁﬁmﬁﬁ i v;. When the frequency of the incident
serrlHl = adfirmem A Mﬂ radiation iz increased to 5w, the maximum
3 ' velocity of electrons emitted from the same plate
() 1:2 is vy, The ratio of vy to vy is
j v (1) 1:2
vy o 1"\ 2 4:1
(3 1:4 @ 1:4
| (4), 2:1 i
A (4) 2:1
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46, Fofelem § & o s o) walien swe

Wi # 2
(1) MgO:

o BaO!

(3]  Bel”
4] Gaﬂ:{\

47, Ufieim ud fie o fafie 2

{1). gﬁﬁﬁﬁqil —+ 4 09 T 1 - § wAH

(2) it § L - 4 a=YR 79 1 - 6 pais &
VRS H 1 4 o T 1o 6 pFu 2
(4) Wi e v Al o b

48. 23 g Wil w5 A 45 g AHlA® 7w 7

H;80, 8 ik siad w smffa M Som o) KoM
% O 7 A o o B 1 STR w w g g
T W fgﬁJ!"_l'ﬂ

(1) 14

(2) 28

(3) 30

4) 44

49. fods =g srwm o wnee & aol el b

B FHA W e § 7

(1) ¥ fifim WHm s Swewd § b
HEEATHE =Y 7 E

L}Vﬁﬁi@iﬂﬂmmwﬁl

(3) 3 s @ G o & el d
o E

(4) T WEeE TEEEl § Tew wEddEE Wy
o g | :

50. R W e wEw el mem § w0 g

AT Wt @ § i
() w1 wieaf & e e e w
Fan m-fFaf o d T -

2) ufraes 6 wiett § amgl wg wiw
m-feafa o am 3§ )

G e ufmar wfafen o
/m-ﬁéﬁ'mﬂtl m -

(4) el (mem) mem F i e s
EEER GiRY

47.

49,

Which of the following oxides 13 most acidie iy
nature 7

(1) MgO
(2)  BaO
(3) BeD
(4] Cal

The difference between amylose and amylopectin

15

(1) Amvylopectin have 1-+4 o-linkage and
1 — 6 o-linkage |

(2} Amylopectin have 1 — 4 o-linkage and
1 = 6 [linkage

(3) Amylose have
I -+ & f-linkage

f4)  Amylose iz made wp of glucose and
palactnsp

A mixture of 2-3 g formic acid and 4-5 g oxalie
acid is treated with cone. HoSO,. The evolved
gaseous mixture is passed through KOH pellets.

Weight (in g} of the remaining product at STP
will he

1—4 wo-linkage and

1 14
(21 28
(3 a0
1) 44

Rep{arding crose-linked or network polymers,

which of the following statements isdncorreet ?

(1} They contain covalent  bonds  between
various linear polymer chaines,

(2}  Examples are bakelite and melamine,

(3)  They are formed from bi- and tri-functional
MONOers,

(4)  They contain strong covalent bonds in their
polymer chainz,

Nitration of aniline in strong acidic medium also
gives m-nitroaniline becauze

(1} In spite of substituents nitro group always
goes to only m-position.

(2) In absence of substituents nitra group
always goes te m-position.

(3] In electrophilic substitution
amino group is meta directive,

(4)  In acidic (strong) medium aniline is present
a8 aniliniom ion,

reactions

ALHCAMYWIPage 14
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51. ﬁﬁmaﬂﬂaﬁﬂﬁ#ﬁmﬁaﬁmnﬁh%m
Pclﬁﬁ:mﬂar&rﬂvmw“ﬂaﬂh:hnqﬁc

SRR e RS
ﬂmilﬁﬁﬂmgmﬁt e

(1) CH,OH, Gy, g0l
.-/‘E]’ CEI:IEEI" CoHg, C;H,OH

@) C H;OH, CH,Cl, C,H,0Na

14} C,HOH, %Hnﬂﬁa, CyH,Cl

53. m{ﬁ}mﬁﬁﬁﬂmmﬂﬂﬁmﬁ
T YR S A A e gy e o

i st ol g R St o
T & | () 3
(1} CH=CH 3
(2) CHy-CH, Lveft
4T CH,=CH, Chg = LWL
(4 CH,

53. us s O H Rl sfifiems & et
8Cl/4  Bry(Fe  ZalHCL

T8

FE O R
‘/“n/ [ [ G

(2} BT, 4,6- TR
(@) oA
{4} pvﬁﬁf@q

54, argze § W e www Bl 6 A R g
=1 T SIS WA g T e 7

al.

B3.

The compound A on treatment with Na gives B,
and with PCl; gives C. B and C react together to
give diethyl ether. A, B and C are in the order

(10" CyHyOH, CoHg, OoHsCl
CoHl5Cl, CzHg, CyH,OH
C,H,OH, CyHzC1, CyHzONa
0 HgOH, CaHz0Na, CyH5Cl

(2)
(3
(4)
Hydroearhon (&) reacts with hromine by
cubstitution to form an alkyl bromide which by

Wurtz reaction is converted to gaseous
hydrocarbon containing less than four carbon

atoms. (A) is
CH =CH.
CH; - CHy
CHy = CHg
CH,

(1}
(2
(3

4]

The compound CgHy undergoes the following

reactions :
3 Cly/ A . Bry/ Fe " Zn / HCL

CoHg o
The product 'C’ is

(1)
(2}
(3l

(4]

m-bromotoluene

3-bromo-2.4 Getrichlorotoluena ;
a-hromotoluens

p-hromotaluens

Which oxide of nitrogen i neld a common

pollutant introduced into the atmosphere both
due to natural and human activity ?

J/ N,0, (1) N0,

(2) Ny (2 Ny
@ NO, {3) NO, :

. No (4) NO
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85. Xy Yy ol XY i syn iy swiel w0 AgW

1:06:1 ¢ 4 # fam 6 T"H
AH = — 200 kd mol™ ¥ | X, H sma e w4l

;ﬂ/ﬂﬂﬁmmﬂ"' %L‘\fl:}& Y

(Z) 500 kJ mol™ Ly 0.5 ‘J

(3) 100 kJ mol™ 9)
"bkkﬂ
y s

4) 400 kJ mgl~!

:_ﬁﬂ. ﬁﬂﬁmﬁﬂrmﬁﬁmm aa’r@]mﬁ:a:mm%,

A e sl o sy v
(1) 3 g &

(2 g g & “ﬂJ}-j
BT e 2

(4)  smiwfa w2

67. et e st & g e v s 2
(1) %8 99 % wa g

(2) ﬂnarﬂaﬂi;maﬂ“mﬁm.hﬁ
81" Pm s % s &
(4) | e % v s T @

58. ‘tgiwn wfufen
MnQ +Cy05" + H" —— Mn® 4 CO, + H,0

%ﬁtﬂﬁ@ﬁﬁm%ﬁmmﬁiaﬁm
#

MaO; C,07~ H*
(1) 16 5 2
{2y -2 18 i
&2 5 16
4 5 16 P

Aglg) + By (gl = X () AH=-XkJ?
= M v =

(2) 7= M v T W

(3 P am v fes e

4 =99 vE = o

ALHCAMWWI/Pags 18

55, The hond dissociation energies of Xy, Y5 and Xy
are in the ratio of 1: 0:5 : 1, AH for the formatig,
of XY is —200 kJ mol ™', The bond dissociatip,
energy of X, will be.

(1) 200 kJ mol™"
(2) 500 ke mol
(3 100 kJ mal™
(4) 400 loJ mol™*

56. When initial concentration of the reactant i
doubled, the half-life period of a zero order
reaction
(1) = is halved
(2) is tripled
(3) = doubled
{4)  remaing unchanged

57. The correetion factor '’ to the ideal gas equation
corresponds to
(1) density of the gas molecules

(2) ~electric ficld present between the gas
molecules

{3)  volume of the gas molecules

(4} forces of attraction between

the gas
malecules

58. For the redox reaction
MnOL + €04+ H— s Mns €O, + H,0
the correct coefficients of the reactants for the

balaneed equation are
MnO7  C,0f- w
. () 186 5 2
2 2 16 5
(3) 2 5] 16
(4) & 16 2

Which one of the following conditions will favour

maximum formation of the product in the
reaction, )

Ay ig) + By (g) = X:(g) AHa -XkJj7?
(1) Low temperature and high pressure
(2}  High temperature and high pressure

(3} Low temperature and low Pressure
(4)  High temperature and Jow pressure

TF T % form vem ) space FOR ROUGH WORK

HindWEnglish

Scanned by CamScanner



-

g0. A RLm tw %, Sl A st s

TiaA fafim fam, T (emf) ﬁ“mwt:

1585 ¥
WA el S # e § 7

(1) BrO; '

ﬁ Bry

3) BrO;

i4) HBrO

6l. CaHy, BeHy, BaHy 8 sl w1 w1

A Behy <Call, < BaH,
(2) BeH, <BaHjy < CaH,
(3) CaH, < BeH; < Ball,
{4) BaHl, < BeH, < CaH,

62, o ol & et % sl 61 W o 4 7

(1) 18 mL e & foag

1 atm TE 273 KW 0-00024 Lo &™) & fom
() 018gFE E

10-3 =it 7 & fir

| (4)
mﬁgﬁwﬁmmmaﬁﬂmﬁma
. (1) i € A A A @

Wlﬁqlﬁﬁﬁﬁ,ﬂ?@lpﬁﬁﬂﬁﬂ
mﬁﬁ?ﬂﬂ%ﬂmﬁﬂﬁﬁrvﬁmﬁmﬁﬂt
Al B

il.

Consider the chapge in oxidation state of
Bromine corresponding to different emf values as
ghown in the diagram below :

. _Aa5V
Bri, L PrOyg Y, mBro

Be < ey D% “TEas v
Then the species undergoing digpropertionation
1
(1) Brlj
{2) Bry
(3 E'rr'[];
(4) HBrD
Among CaHg, Bely BaH,, the order of ionic
character 18
{1y BeH, < CaHy < BaHg
{(2). BeH,<BaHg< CaHg
(3) CaHy < BaHy < BaHy
(4) BaH,<BeHp< CaHg
In which ease is the number of molecules of water -
maximum 7
(1) 18 mL of water

(@) 000224 L of water vapours at 1 atm and
213 K

i3} 018 g of water
(4) 107" miol of water

The  correct difference’ between first- and
second-order reactions is that

{1} the rate of a frst-order reaction dogs not
depend on reactant concentrations; the rate

(2) ey i W e ®1 IeiE e A . e i s e
: ﬁ?ﬂ‘l ol A sefond-onder red B nd O
Lf Eﬂ: wife o st = e = reactant coneentrations
o (2] a first-order reaction can be catalyzed; a
;ﬂ‘a wam =12 6 s & a3y [Al, W Freke second-order reaction cannot be catalyzed
1 3, fefra Wiz it firn 6 sy (Al (3} the half-life of a first-order reaction does not
o Ff & depend on  [Alg  the half-life of a
@ PR R P L £ second-order reaction does depend on [Alg
: = = sl (4) the rate of a first-order reaction does
Bl W finkc e 2, &j-: ﬁ:‘{.qﬂi i depend on reactant concentrations; the rate
1 i wifireenes 1 AEEAA T . of & second-grder reaction does not depend
B on reactant concentrations
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4. Fieififign & 4 ofwewwt & -1 w9 & @l W (64 Whithnf‘ﬂ‘mfnllu‘#ingisEnrreﬂ“'i“l_"ﬁpﬂt‘t“

FH-m = & 7 (R = UFm)
" -~ NHy <= OR <~F
(2} -NHy>-OR>-F
(3) ~NRy<-OR<-F
(4) -NR3>-OR>-F

T & & R s A wnd @ v & wwnE
sp*, &p*, sp, sp T gufn = 2

{1) Hﬂnﬂ-{:zcﬂx_
L i B
(@) G}Iﬂaﬂ'}f__..gh,ig}h

e 8
/ cHpL R 7 = G
(

43 GHE—[}HL{:H_,EHEX

_ 1 effect of the substituents 7 (R = alkyl)
(1) -NHy<-OR<-F

(2)
(3
i4)

—HH2::--[]R::-F
-HRi-:—EIE{—F
—N‘]i?;-—D‘R:--F

&5, Which of the following molecules represents th
order of hybridisation spﬂ, upg. ap, sp from left

right atoms ?
(1) HC=C-C=CH
{2} CHs=CH-CH=CH,

CH, = CH <C=CH
CH, - CH = CH = CH,

(3
(4)

66, Fofafm # A maifis e
0 4 TR e _ 66. Which of the fallowing carbocations is expected t
FHifir b most atable 7
N0,
| ﬁ‘/ s NO,
| g} ,1[\ 7?* (1) Q*
*E Y H !
f N
* ¥
A NO,
2 'y
v/ & (2] H |
¥ I
NO, {
NO
Y] @ iz |
3
5 (3)
Y H
NO,
H
{4) 1{@ H i
) ?>®
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87
.

At T % | 4R T T A Magnesium reacts with an element (X) to form an
s ey 2 EI:""Q bl ﬁjl'ill_ﬁ*__' sonic compound. I the ground state electronic
L 1s7 2s° 2pb &, 71w Ffi w mﬁgmmnurmi;lu’zazﬂp*.mmplm
(1 formula for this compound is
@) MazXy A\ (1) MggXy
odns. 5 4 NG) @ M
P v 3) MgX;
G MggX, L (4) MggRa
" i Em} & W W boe S0 A 2 | 900eC |68 Iron exhibits h:!:l.’ gtructure at ropm Iempcratﬁ
S AR fire T oftafls 7 9w § ) oTEw et Above 800°C, it transforms ta foe SLMEMTE
F UMW U9 W 00 C T Y W ERAE o l ratio of density of iron ot room temperatire tu
(o e | o that at 900°C {assuming molar mass and atomic
*mﬁ?mmmmmﬁ‘mm radii of iron rﬂn’tﬂ.‘iﬂﬂ-m‘tﬂtﬁtb t-amp'ﬂmml‘ﬁ]'
1:L- ]
= 2 éﬁ/ w 2
i ﬁfbﬁﬁ‘ y e
=
@ 33 /n @ 23
42 F’ a a2
43 g/ @ A8
@ i »@ @ o
1 1
(4). : Mg
 efEtEe i po—t ‘69, Which one iz a wrong statement 7
. il o ﬂ.a,m . : {1} Total orbital angular momentum of electron
(1) 's’ HE® A gEgA W O T vl = . im 8" orhital is equal to zero.
L ) ¥ wo § (2) The electronic configuration of N atom is
(_,DB( N ‘:’mﬂ muiﬁﬂ:; Eﬁ; I;zl' 1 o5 2pl Zp] 2p)
~ I i s A H) AtY At
|_Ti. f l‘ - 1 {3) " An orhital is designated by three quantum
(3] ﬁﬂﬁﬁ?mﬂﬁfﬁ%ﬁﬁ!tﬂﬁ' numbers while an elestron in an atom s
e T ° TF TewA TN Faien wwE ' designated by four guantum numbers.
A ¢4y Thevalue of m for d 2 iszero.
@) daHRUmEBIETIE : . -
. erar i - 70. Consider the following species :
;. TR I a : CN*, CN~, NO and CN
ON*, N, NO mn * Which one of these will have the highest bond
il & et war ey B A — order ?
MO (1) KO
(2) CN’ {z CN*
(@ CN~ @ '3::
(4) _CN W ¢
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Which of the following statements 15 not true for

TL. ¥ % fom R § 4 2 w8 9w T |1 alngens?

L% (1) All for monobasic oxyacids. .

(1) o v it e apesy o £ | ) All bub fisorine _show positive axidation

(2) iR % aem wf weE RIS states. '
ST T (3) All are oxidizing agents. ik

@) woft st arfid ) Chlorine has the highest eloctre

g et R i e vem R 2 enthalpy.

2. Wi st W o g B A 8| diagram, which of the
ﬂﬁ-ﬁtﬂg W1 e & o B | T rjﬁ;mm&m!gnﬂu be used to reduce alumina
w7
W e (1} Fe
- (2) Mg
o ;‘: @ dn

(4) ©u
{40 Cu The correct order of atomie radii in group 13
A = ;
78, o § A0 18 % a8 o e | ot
w1 R (1) BcAl<In<Ga<Tl
BeAl«In=a=<Tl (20 BeGacAl=Tl<In
(20 B<Ga<Al=Tl<In (3 BeAlzGa<ln<Tl
i3) B<Al<Ga<ln<TI () Belac<Al<In<Ti
(4) BeGac<Aleln<Ti ‘
; 74, * In the structuse of CIF;, the number of lone pairs
- I
e N ﬁﬁm : e~ b ¢ of electrons on central atom “Cl is
ﬁﬁﬁl HEN
(1) one
a w L (2) four
{2) =m Cl=¢ (3) two
A h (4) three
(4 A F :
_ 7. The ‘corredt order of N-compounds in its

75. Nl ® wft s ensl 1 9H T |\ decreasing order of oxidation states is
il A W @ HNOGNO, N, NuCl
(1) HNOg NO, Ny, NH;":;] & PR @ mNoy, NE,CL NO, N,

B & i) i " Hﬂr
’)35 FAN O, NELCL 5 n,;"*q q (3) HNOg, NO, NH,Cl, N,
(3) HNOy, NO, NH,CL, K, U o
(4)  NH,CI, Ny, NO, HNOg Y z | 401, Ny, NO, HNO,
%6, Peffn § & FAw m MED s wmy §) v eh one of the following elements is unable to
to form MF; " ion ? |
mqﬂ d E} i |
@ Ga NE | 0 e |
2 B o 2) B |
Al : (3 Al !
I (4) In
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77, ¥ sl

& O Na*
@ + CHCl; + NaOH - @gﬂﬂ.
i wfRf sl &

() mﬁrﬂﬁﬁamqgﬂmﬂ
(2)  SwEEH T (CHCl)

(3) S SR (CHO )

78, FEIFEEE F5E % A .
Red siras ZsHE
T ifeemed, FEF T w @ R e A
T B | e Tk o g R0

(1) o= onivas arsied = o 3

(2) hEITERTeE S W1 0 S I TR
aeR i wE % g A

(9) wEifERE W & A

e T

79, U A & A, CgHy0 I NaOI (¥ i afilm
. NaOH & &0h 97191 7= iy sl wok R

vy aren e FEEa o &
haﬂ'{"fiﬂﬂ:ﬁ

@ He—{ - cHy -0,
Y @—?ﬂ _CH, # 1,
OH

@ ¢ )-cH,-CHy-OH il
Ha

C
@) CHs @, OH 3w 1,

7.

In the reaction
OH O Na*

@ + CHCly + NaQH —* @'EHG

the electrophile involved is

-]

{1 dichloromethyl cation { CHClg)
=

(2)  dichloromethyl anion ( CHClg)

4]
{31 formyl eation {CHOD)

(4) dichlorocarbene (#3Cly)

Carboxvlic acids have higher hailing points than
aldehydes, ketones and even aleohols of
comparable molecular mass. It is due to their

{1) formation of intramolecular H-bonding

(2) more extensive Association of carboxylic
acid via van der Waals force of attraction
formation of carboxylate ion

formation of intermolecular H-bonding

(3}
{4)

Compound A, CaHyg0, is found to react with
NaOl (produced by reacting ¥ with NaOH) and
yields a yellow precipitate with characteristic

gmell.
A and ¥ are respectively

() Ho~{_ - CHy—OHand
(@) Q?H-mamxg
OH

(3) @— CHy-CHy-OHand I3

CH,

4) CHy —@ OH and I
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B0, wiEm
LT — wiem 1T & f¢ 79 |B0. Match the metal ions given in Column I with th,
: Ty :mql;ﬂ A fiemn a gpin magnetic moments of the lons given |
hﬁﬂaﬁﬁﬁﬁqiﬁﬁq Column [T and assign the correct code : A
PICT & 1 Column [ Column 1T
3,1._ 5
G ‘T Co™ i W8 BM
y i. @5 5 50 booor” ii. /85 BM.
e S
- VB8 i, V3 BM e, Fet fi. V3 BM
B =5 o
d.” Ni LR s dgNit iv. V24 BM.
y. JiIEBM v. 15 BM.
2 & ¢ d a b c d
(1} v v i i (1) jw v i i
AT v 1 ii it (2w i ii iii
(3 i i i B i @i ii o v
i\ ¢ ¢ A @ i v d i
8l. ¥R Wi, FLCO), 0 Bl Iron carbonyl, FelG0), is
(1) ==l \ (1) tetradBEpeE
(2) P FE-— o (2) trinuclear
(3) wEHTw [ﬂﬂ N . (3 moanonuclear
4) fre= V '-:{b 1) dinuclear
'
B2 [NI(CO),) Hga & ?ﬂﬁﬁlﬁﬂa%‘;ﬁm! B2. The ﬁ:ﬂmet:r}f and magnetic behaviour of the
complex [Ni(CO),) are .
(1) =i aoaef wofafy & shrdn
Mﬂﬁ oaE s TS e :; square planar geometry and diamagnetie
(8) wgwe s w g Fa f;‘;zfi:m geometey and paramagnetic
(4) =omsrr wafifa v sEgeEE {4) tetrahedral ;T;Z:; Em: o
i and paramagnetic
83, ﬁ‘:i?ﬁaa H8 FE WA Al w2 ':;"'h;ich ong of the following lions exhibits
o S oY + 6-d bransition-and paramagnetism g3 well ?
(1) crof” W ooy '
2) MnO; B M)y
_/'m/l Cry0;” () Erﬂﬂg_
(4) Hnt}f' (4) Hnﬂi“.
B4. FFA [CoClylen),) T wfifd wmEyam = 84. The type of {someri .
. “2 TR [CaClyienly] is ¢rism shown by the comples
(2) oA EeTEE (1) Geometrical isomerism
(3)  ITEEEUIA HEETE (2 lonization isomerism
(4) Al TEEEE {3)  Coordination isomerism
i4) Linksge i x
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r_

. Pl G B NaoH w ol & e fieg

88. FEfoiEn § ¥ fHA @ o 6 s

Wﬁ“ﬁmﬁ%ﬁmﬂmwi.
H 4
a. 6B0mL — M
" 1:),H{3:l+4ﬂ.mL.-fﬁNnnH
b, S5mp M
mL 75 HCl+ a5 m, -f—:] NaOH

% NaOH

d_ 100 ml, %’Iﬁ HCL + 100 'mL, %“‘: NaOH
i

¥ ¥ frws ol 1% = gy 2

()

Lo

(3)

(4]

M

B B R &

Fndt weeft 3 2
FA W o A v
(2) WA & AEw vl we e o oe w
(3) FEE AR F AR
4) Fae ym s sEw Em T

BaS0, it 208 K w 7@ i e 242 « 107 gL
# | e e (K, ) % A g

(fem 1 & BaSO, 1 Hiew 2599 5 233 g mal ™))
__}H/{-ma « 10 % mel® L .

(2)  1:08 % 107 ¥ mol® L

(3)

(4]

108 x 107" mol® L™
1-08 % 107 mol® L2
NH,, H, O, 0 CO, ¥ fom arst T8 fenms

w9 417, 0244, 136 w 360 R m |
frfafigs @ & - fm w=8 sow @ ghm B o

B5. Foliowing sclutions were prepared by mixing
different volumes of NaOH and HCl of different
concentrations ;

86,

87. The solubility of BaS0,

a, 60 mL i HC1 + 40 mL 8 NaOH
10 10

b, 8% ml % HCI + 45 mL % NaOH

M M

¢. 75mL — HOl+25mL — NaOH
n]

M M
— l+1 — MaOH
d. ]I:|{511:|:|L|_“:I HCI + 100 mL T a

pH of which one of them will be equal to 17
{I' b

{2y d
(31 =a
4}

On which of the following properties does the
coagulating power of an ion deépend ?

{1) The magnitude of the charge on the ion

alane '
(2} Hoth magnitude and sign of the charge on
the ion
(3 Sipe of the ion alone

(4)  The sign of charge on the ion alone

in water is
242%x107 gL™' at 298K The value of its
solubility product (K0 will be

(Giverimalar miass of BAS0, =238z il ')
(1) 08 % 10720 ol 12

(2)  108% 10 mot® 12
(3 108x 107 met? 172
(4} 1:08x 107 mol® L®

Given van der Waals constant for NH;, Hy, Oy
and COy are respectively 417, 0-244, 1-36 and

A9 358, which one of the following gases iz most
i Oy easily liquefied 7
N L
AT Ny oL Yy b w owg
(@) Hy N% .3‘&: @
9 o) Y o O @ co,
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zwitterion 7
E ? j
(1) Aniline
(1 e ~l
T (2) Benzoic acid
{2} AR N
e (3) At
(3)

et (4) Glyciné
)/

i EP Qﬂ.ﬂﬂ.ﬂinu‘ﬂ
80, ﬂﬂﬁﬁaaﬁw:ﬁmﬁwﬂﬁﬁﬂmﬂm Idemﬂﬂwmmpmduﬂ

[ reactions :
following gequence o
) TR, ¢ 0
Frdet Anhydrous
AICIy
AIC] S ACl |
@ + CHCH Oyl — @ + GHyCH,CHC]
' (1) Og
|:1.:| ng P _-_-_*__'. Q +R
P im0 L ) ;0
L™
P Q R
P Q R

CH,CH,CHy CHO
h CHyCH,CHy CHO

1 G EE = H
CH.CH - 0OH (1} @ 1 @ ¥ H Hﬂ 2

CHICH )y
g CH;CH(OH)CH;

CHICH; ) OH | @
() @ 1 @  CHyCHIDHICH,

CH,CH,CH CHO COOH
('HCH,CH, CHO COOH | 2CHCH,
{3:| @ . @ : (-I:‘:j F
- OH
CHI{CHy),
CH(CHy)y 3
- @ @l CHg - CO - CHs /‘y’@ @ CHg - CO - CH |
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g1, Fr=feien wiwsi &
T wn W uftfetesy flfifig (91, What type of ecological pyramid would be

b 1= B
i ? obtainad with the following data ?
wlte I ;190 Sacondary consumer : 120 g
m‘ﬂfﬁ%:mi‘m;:mg ' Primary consumer : 60 g
el I - 10 g Primary producer : 10 g
: S W 3 it (1) Inverted pyramid of bigmass
(2) T o i it (27 Upright pyramid of numbers
(@) = e (3] Pyramid of energy
(4) F=HvE = E it (4) Upright pyramid of biomass
g2, Wi twnafmmiy | g2, Natality refers 1o
,M T (1} Death rate
¢ A le hahitat
() ST e AR am iij] :;n;h::tfmmwduﬂs aving the
I {4} Number of individuals euunngah!h!lat-

(4) T STATH § SR % 9 @i ) e

- i bra
o3, mmmﬁmmt? 0. Wnﬂdﬂﬁnueﬂlymcale ted on

1) &% (1} 5" June
2 16 ﬁqa—m?( _ i2) 16" September
LEJ 21 aﬂﬁ ; (3 21% Apil

) 228 april

@ wHAEE e ﬁ'ﬁ‘ﬂ' 3 W& g4, In stretosphere, which of the following elements
mﬂﬁ?ﬁﬁgﬁﬂﬁﬁmﬁlﬁﬂﬂﬁ#mﬁ actaasamtalystmdegradaunnufuznnﬁmd

ﬁﬁ%ﬂﬁiﬂmﬁ‘? reloase of molecular oxygen 7
O ' ‘(1) Carbon
(2) Fe
2y Fe @ Cl
@ d (4) Oxyeen
f)w S 85. Niches
g5, T wm B ?wimw il (1) all the biological Tactors ifi the erganism’s
i & R environment
")L:)/HFHF w1 98 TH Ft dm # % fom (2) thuraugaﬂftempemturethatt.hewgaﬂiam
needs to live
(3) T8 1.ﬂﬂ'|EF. T WE| St T 2 i3] the physical gpace where an grganism lives

() e o g Fod wate i, T T (4) the functional rale played by the organism

whera it lives

T

gg, TfeiEa CE e el forivs e 27 9§, Which of the following is a secondary pollutant 7
| (1} cO (11 €O
| - (2) S0
! y/ 80y 2

@ COy (& COy

. 4) Oy 0y
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_T_

+ jn cellular
@ HITE v # NAD® ) yfie w8 7 g7. What is the TOl€ of AV

- reapiration 7
(1) =% o wegtem & o 3 a5 = 2 (1) [t functions as an enzyme.

{ ‘%‘E A8, tiveen % B on e w0 '9) 1t is a nucléofide Source for ATP synthesis. |
Y

i 1Er,
1t functions ag an electron CATTIE

(3) R UK FEAEA AR o H A i ii: Itismﬁmﬂammpmrrﬂannmﬁﬂ
() T8 e R % o S P espivation. Y
L3 : o g8, Oxygen is ot I-'ll'ﬂd“'“d ﬂ“fim- o tosy™
98, Torud sm-HwEET § wiwHiaa T e ! m- Green sulphur hacteria
{1) TR HeHn e 0 Btts
i4) T {4) Chore

ghows a very
99, Which one of the following plants iy

: : it of moth, whe
closg lationship with a <t evelo withont

none of the two can complete its

99, Fr=finfizn § & S oy Wew 6 os A0 & 9
o e et #, B i o ce-aEt % T

HAT i = AT A the ather 7
1) R r (1) Hydrille.
(2) % - () Banane_
._.-"{'Hr‘ FTHT {3) Yuceo
4) T (4] 'I.-"iuﬂr::
100. TRHi g W W e G i 8 fEm e A )| 100- mﬂfﬂw following forms is iron absorbed
bk (1) Ferrie
(1) iw (2) Preeelement
(2) ¥+ T {3) Ferrous
(3) wmE i:4} Both ferric and ferrous
it s e 2 101. Which of the following elements is responsible for
101, Frefefam & & W am SiEd 3 o6l maintaining turgor in cells 7
Tt 3 form Imrerdt & 7 {1} Mggnesium
(1) Bt {2) Potassium
o ardEe ' i3 Sodium
(3) iz (4} Calcium
(4) Hem 102, Double fertilization is
102. o0 i 27 i (1) Fusion of two male gametes of a pellen tube
{1 qﬁﬂmqﬁiiﬁﬂﬂﬂﬁﬂﬁﬁﬁm* with two different egps
GIE R EE] . ) (2} Fusion of two male gametes with one egg
(2) & T PHE U HE F wE T (3) Fusion of one male gamete with two polar

{3 ﬂﬂ‘ﬁmﬂﬂﬂqiﬁaﬁ#mm nuclei
_’m/;:ﬁl:iﬂﬁ #in G (4} Syngamy and triple fusion
103, W w9 W WER # an & F gE e § | g

. Pollen grains can be stored for several years if
ATTHR T W R o we R 7

liquid nitrogen having a temperature of

(1} =120°C (1] =120°C
-~ 196°C (2) - 186°C
(3) -B80°C @) —80°C
(4} - 160°C i =l y
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104, T e

L Mﬂmﬁmwﬁm
(1), ¥

@) fw 1

(4) Tmug ll

: 49)
o 5 T Frsaferfon 8 & v w2 1

(1) P St st s 1

2) =& v% a9 8§ W o
ok “‘iﬁ'ﬁﬁﬁﬂm%?‘

106, Fr=fafian 4 % S N
Q' U g 7 B0
(2) Thefs
(3)  ArywiaeiEy
" ittt

107. i ) i R mkm 72 o 7

Lol TmEE
(2) Oy Higm |
(3 wEmE
(4) CO,EEa &

108, = o H 0 e
(1) BaETR
(2) SAATER

{3)  TERTRR
AIFTRN

109, THT H A il STt gqE S £

(1) gl
(2) i A FER
(3) i iR ARE

104, The stage during which separation of the paired

105,

106,

107.

108,

104.

110,

homelogous chromosomes begins is

{iT Tachytene

(2) Diakinesis

(4) Diplotene

{4) Zygotene L

Which of the following iz true for nucleolus ?

(1) Larger nucheoli are present in dividing cells,

(2) It takes part in spindla formation.

{3} - Itis a membrane-bound structure. .

(4) Jt is a site for active mbosomal RNA
gynthesis.

Which among the following is nof a prokaryote 7

(1)  Saccharomyecs

(2} Nosfor

(3)  Mycobacteritm

(4) Oscillatoria

Stomatal movement is nof affected by

(1) Temperature

(2) Oy concentration

{3) Light

(4} €O, concentration

Stomata in grass leaf are

1) Duomb-bell shaped

(2] Rectangular

{4) Kidney shaped

{4) DBarrel shaped

The two functional groups characteristic of
EUEArS fre

f1)  hydroxyl and methyl

(2}, carbonyl and phosphate

(3) carbonyl and methy!

{4) carbonyl and hydroxyl

The Golgi complex participates in
(1) Fatty acid breakdown

(2) Respiration in bacteria

{3) Formation of secretory vesicles
(4)  Activation of amino acid

I : dvde ) W | 111, Which of the following is mof a product of light
111 Hﬁ;ﬁﬂ%mi? s reaction of photosynthesis 7
;l‘lii'ia ﬁi 'TP' (1) ATP
() NAD (2) NADPH
(3) NADH @ Baoh
AT Oxygen (4) _U=ygen
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112, ‘ST R g sa B £ 7
1) skt fonmm g
{2 a;ﬂimqm
B far g
(4) it T

113, Hﬂmﬁw:
(1) e w frn e e 3 o |
(2) TGRS Tarim b 3 |

LN

(4) T o S T, s e

112.

113

114.

Offsets are produced by
(1) Meiotic divisions
(2) Fﬂ:ﬁh@ﬂﬂﬂ:“{n"
(3) Mitotie divisions
(4) Parthenogenesis 1
Qelect the correct s:'c.111_::‘:nn:a.a-ﬂ::h-JE ——
(1) Franklin Stahl coined 4 W .-
2) Splicoosomes take partin e il
(3)  Punnett square Was developed by
arjentist.
{4) Transduction was discovered by S. Altman,

Which of the fallowing has proved helpful in

preserving pollen 28 fossils ?
114. Fieiem & & Sqm w & S & ey § (1) Pollenkitt
mmﬁﬁmmgm? (2} 04l content
(1 vm R (3) Cellulosicinting
(2) eftg s (4) Sporopollenin
(3) Heim Jwn s = 115. Select the correet mateh :
_.M T (1) Alee Jeffrays — Streptococcus
115, &t 57 #1 5fm . prieumoniae
. (2] Matthew Meselson - Pisum sativum
(@) ey fwew s o, T - a5 e (3)  Alfred Hershey and - TMV
(@ wcelshowidm _ &.0m At Martha Chase
_Ad) T W T W HHTE - #’ﬂ“m (4) Francois Jacoh and - Lae operon
116, 5.1;;:;.1. F et wfiwh = v e 116 ']M':'"'_EE Mg .
“hl:m ¥ i N m_;t?mmmm proof for  semiconservative
1) === i phication of DNA was first ghown in a
2)  Plant
(3)  oftam # 3) Bacterium
_,r".‘ﬂ# ﬁ'l'lﬂ i : (4) Virus
ll?-%ﬁﬁﬁmﬁmﬁﬁﬂmmﬂaﬁg 117, Which of .
Bl o E g g Life-time ?ﬂm following flowers only once in its
Wﬂm wiiirs (1] Bamhbog species
(2) ¥m (2}  Mangn
(3) weEm (3 Jackfruit
118, Which
11 ch 'of , R
&ﬁqﬁiﬁiﬂﬁﬁﬂqﬂmw“ﬁ i 4 2 s . the following pairs ig gi¢
i A e HE wRfarwed) (1} Starch synthesig i | |
X0 fom Futer | fy (2} XO type sex Pe : Multiple alleles |
:i ;BD?E_ N b determination ' Grasshopper
JE. wife . WEEE B)  ABO bloog Brouping |
ALHCAWW/Pags 25 — @ _TH Morgan * Co-dominance
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| Latecy 119, Winged pollen grains are present in
(3) (2) Mango
. () (3) Cyeas
) Lil (4}  Pinus
Siisiic ‘.ﬁ | 5
@ N mm% A Ty | 120, After karyogamy followed by meiosis, spores are
i L 14 3y g £ produced exogenously in
; A & (i : {1) Neurospora
: e (2) Agaricus
3) sl (3) Altermarin
{4) #%ﬁgm (4)  Saccharomyces
121, Freferiten § & s o A i 3 121. Which one is wrongly matched ?
(1) T \ LR (1} Uniflagellate gametes - Polysiphonia
@ S 3 feF Ty 53 {(2) Gemma eups —  Marchantia
,_,,3"3')/ EC (3] Biflagellate zoospores —  Brown algae
Temnfive s W S (4} Unicellular organism ~ Chlarella
@) wRiwdR L ey V. 7
122, T 1% o o e 122. Match the items given in Columin 1 with those in
R B : ;ﬁ wﬁi.ihagnﬁ'rﬁq Column 11 and select the eorrect option given
Hifam - Column I Column IT
&y | el _ 8. Herbarium i, Ttisg place having a
a  TRNRW i it e o ¥ callection of preserved
iﬁﬂ‘ﬁﬂﬁl s b x plants and animals,
_ ) . Key i, A list that
- e enumerates
i e w:{ ::-i 11::& aﬁﬁrqa":h methodically all the
mlaihﬁﬂﬁ' _ W A species found in an area
_ ‘q:':hﬁ e & forg with brief deseription
Hike & F T | aiding identification,
: i, e vt e e T & Museum i, 1saplace where dried and
T 2l T T pressed plant specimens
" sl | Emuntednnshaetaam
4 » gpt‘
d. ﬂ%ﬁ_ iv. % qfe Gl aa o ) 4. Catalogue iv. A booklet containing a list
( emin) 3 3% e B B A of characters and their
ffim el 6 wmem w3 4§ alternates which are
R B # | helpful in identification of
» b e d various taxa,
i iv iii il (1) “ h x e
2 i v Wi ; " pa 8
& B O . (2) i v i i
ﬂ [T R S W
il . o @i i i iv
. LC T TR i i
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123, Eﬁﬁﬁmwﬁﬁﬁgﬁﬁﬁﬂ
7 i .
_,Hfs!rﬁ#wﬁm'
(2] HRATES

(3) W
() i e

124, T ﬁnﬁ.ﬂm §7
iy R
(2)  HIETER] Tgdl ¥
(3) TS e |

(4) ERH g A
125, TS e = & 7
(1) &0

(2) N TE
(3) aqfrmﬁmu_a

T

126, Fefafm & & wam e Tt 2 ?
# frame mvzrm fufy g oiEg
T B |

(2) ﬁﬁ?ﬁmﬁmﬁl

(3) Fotdar mw faedom wen R, w66
At e St e

(d)  weww i g SRl W GTMTOTEE A S
B

IH{ Sxwl ot TRy a & weel s

Tfri Bl # |

(2 e 4 e Te 3w T =
=AY F o ,

(3 gt w meey Afefermeficdim #8

124.

125.

126.

127.

Secondar¥ xylem and phloem i

n dicot stem are

produced by

(1) Apical meristems
(2) Phellogen .

() Vascular cambium
i4) Aﬁ]la_‘r}" merstems

Pneumatophores occul in

{1) Halophytes

(2] Carnivarous plants

i4) Free-floating hydrophytes
i4) Submerged hydrophytes
S-.mtl potatols 4 modified

(1) Stem

(21 Tap rook

i9)  Adventitious root

(4) Rhigoms

Which of the following staiements is correct 7 ‘
{13 Owvules are not enclosed by ovary wall in
Y INOSPErmE.
Horsetails are gymnesperms.
Seloginella is heterosporous, while Salvinia
is homosporous.
Stems are usually unbranched in both
* Cyeas and Cedrus.

2]
(1

(i

Select the wrong statement :

(1) Cell wall iz present in members of Fungi

and Plantae.
Pseudopodia are’ locomotory and feeding
structures in Sporozoans.

€2

AR (3) Mushrooms belong to Basidiomycetes.
(4) HET W BE ot i A A {41 Mitochondria are the powerhouse of the cell
FafrT o TRE in all kingdoms except Monera,
128, & ofeal = @ g1 128. Casparian strips occur in
(1) WRR=ST (1)  Epidermis
(2} E"_’E 3 (2) Cortex
() i3} Pericyele
(d) Endodermis
Fra #§ il Rt afy ot @ fewge T T
o ;;ﬂqfq g L 129, Plants having little or no secondary growth are
Py I'arm (1) Grosses
() it (2) ﬂun.il'ers .
(3 v anqﬂi’ﬁﬁ (3] Deciduous angiosperms
(4) wgHEH 4] Cycads !
ALHCAMW/Page 30 T w4 & i TuT | SPACE FOR ROUGH WORK MindilEnglish |

Scanned by CamScanner



130, % FRTh FoEl 0 wmm :
o) e, o A T St
ﬂmﬁm!!ﬂ‘ﬁ'ﬂlﬂﬂqﬁm%? L
i1y Co-667
(2) imi
(3) T wEm

J}W”imtﬁﬂ
191, WHE T # Hme & 3o
gfﬁmmmmli“ﬁ: -

(1) rEmm (99 T

(2) AwME

Jﬁfﬁﬂﬁr@ﬂ
~{4) pBR322
TETE I § o SRR e e F
W%iﬁﬁgﬂiﬂi@ﬁﬁh%iﬂﬁm
HiEH IR § 7 :

(1) vl sTgfe SEEUE T (ICMR)

(%) AT T sEEEE 2R (RCGM)
(3) Awirs v i sgEuR T (CSIER)

132.

ST i gt JiHiE (GEAC)
| 133, wg @i g
| (1) Tt — e W
(2) #ua W — TR
(a) ngmilﬁ - T Wi
4) . H=E - T

Fe

wm d?

() ﬁmw,ﬁgﬁﬁﬁﬂr,aﬁﬁﬁ
| Forgefe, T, AT
(3) e, Faem, R
(4) T, i, feerm

1m.ﬁmmmmemriﬂm#m

131,

132,

134.

130. A ‘new’ variety of rice was patented by a foreign

r . though euch varieties have been
present in India for a long time. This is related to
(1) Co-667
(%) Lerma Rojo
(3] Sharbati Sonora
(4) Basmati
Which of the following i8 commonly used as a
vector for intreducing & DNA fragment in human
lymphocytes s
{1) Retrovirus
(2) & phage
(3] Tiplasmid
{4) pBR 322
In India, the organisation responsible  for
assessing the safety of introducing genetically
modified organisms for publie use is
1) Indian Council of Medical Research (ICMR)

(2] Research  Commitice  on Genetic
Manipulation (RCGM)

Council  for  Scientific and Industrial
Research (CSTR)

Genetic Engineering Appraisal Committes
{GEAC)

Salect the correct match :

{3

4

(1) Ribozyme - Nucleic acid

(2) T.H Morgan —  Transduction
(3)\F, ¥ Hecostive paretit - Dihybrid croes
4) (% Mendel _  Transformation

The correct order of steps in Polymerase Chain
Reaction (PCR) is

(1} Extension, Denaturation, Annealing

427" Denaturation, Extension, Annealing

(3) Anmealing, Extension, Denaturation
(4] Demnaturation, Annealing, Extension

| 185 w w3l mﬁ,m flt 2o 3% 135. Use of bioresources by multinational companies
| St 1 e i & Sewane & Iwm w0 and organisations without authorisation from the
| o WET R 7 concerned country and its people is called
! (1) . #4-TgEA 1) Bio-infringement

(2) WE-ITTHEA (2] Biodegradation

W (s =) (3) Biopiracy
(4) dm-zirem {4} Bioexploitation
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136, WFE 7 3 el dw Fe g o
®7
(1) wEE S@ ¥ g8 Fg o
(9) e @ g fa S g0
(3) i & q =R g
% e g & ) fa) e

m.ﬁnmﬁﬁﬁmﬁaﬂgﬁrgmﬁgm

aF W

137.

138, The transparems

tlmmmehumaﬂayeism'ﬂiﬂ

jts place by
(1) ligaments attac
(z) smooth

(3)
(4)

hadmtheci]iarj'bﬂﬂjr

gignificant rale
(1) Aldosteroie and

i one
v & 7 (2) Estrogen and Para B
e A @) Progestarone and AIMOSIETEL
(1) E _ ) Parathyroid hormoneé and Prolactin
(2) wEFrae A s T =
(3)  TraR R 138, Which of the following structures .;;r regions
) dmamiee FiEA U8 SR immﬂhrpairedwﬂhimfﬂwﬁm.
| . gontrols respiration
i Mt gy and c;rdimnsﬂular
1m.ﬁnmhﬂﬁﬁmﬂmmﬂammﬁﬁ reflexes.
oA A g A 7 &) Hiypoths amus ﬂffwf“m];ﬂf i}
i : aging hormon
(1) rEen st :mgwq&aﬁmq&aﬂ A cagulati oF
1 P W | temperature, :
' - d thirst.
(o EydeEE o Esir w1 eI U huugl:ere.n
A, W T W (3} Limbic system consists of fibre
o | tracts that
interconnect
@) TofEE :ﬁ'ﬂﬂ*@'ﬂ'ﬁ“ﬁ“ﬁt different regions of
fafis &4 1 A § A hrain; eontrols
% f = P | movement.
) g e a1 = et Hrre (4) Corpus callosum band of fibers s
: : connecting left
ﬂﬁﬁaﬁﬂﬁﬁqﬂ : right cerebral
hemispheres.
 Proffien | | wE-A A B e
o B2 AR Yo imlﬂ&. W]:jchufthafnilwd.nginmamjnuadddeﬁwd
> hormone ?
(1) Epinephrine
2 w&ﬂ"ﬁ’l
=~ ] {2) Estradiol
” (3) Eed
: -
(4) fEatE
(4) Estriol
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i ThTCln CAT
X Y pucaT h

140. T8 & Fraam 3t
(1) W
TR
(3) mﬂq‘m i
4) TEms

M g # 2

141, Tk Hm ¥ Hifim
T U s BNA = 5 75 v o .
(2} ACCUAUGEGAD
{3 UGG'I"L]‘["CGEAT
UCCAUAGCGUA
142, T [ 4 & nd
AR
Hifam

el & 11

W W T [ A5 e b
™ i 2 e e

. TEUENET WEEN i st e
. ERE TEE
i, dtafre

i A
i

143, wpit & dords e fee 6 Rl e e
- (1) =g= defE
ﬁﬁmqﬂ'ﬂ'ﬁqm('ﬁmﬂﬁtﬁﬁﬁﬂﬁ)
HTEedH
(4) oy R

il

1l i

(2)

144, ﬁﬁ%ﬁﬁﬁﬂﬁ!ﬁiﬁmghww

140. All of the following are part of an operon excepl

141.

142,

143.

144.

(1]
(2}
)]
4

an operator
an enhancer
structural genes

A promoler

AGGTATCGCAT 15 & sequence from the coding
strand of a gene. What will be the correspending
sequence of the transcribed mRNA 7

1) AGGUAUCGCALU

(2) ACCUAUGCGAU

(3) UGGTUTCGCAT

(4) UCCAUAGOGUA

Match the items given in Column I with those in
Column II and select the eorrect oplion given

below "
Coluymn { Column I7
a, Proliferative Phase i. Breakdown of
endometrial
lining
b,  Secretory Phass . Follicular Phase
¢. Menstruation i, Luteal Phase
a b c : |
{1y i i i
{2y i il i
(4 i ik ii
(4} il i ii

According to Huge de Wries, the mechanism of
evolution is

(1} Multiple step mutalions

{2}  Phenotypic variaktions

(3) Saltation

(4} Minor mutations

A woman has an X-linked condition on ane of her
X chromosomes. This chromosome can be

fasll e 0 7 inherited by
(1) e g A (1) Only daughters
(2) S -l (2) Only grandchildren
(8) i it A (3) Only sons
/Tﬁ Ls Eﬁﬂ ﬁ i i4) Both sons and daughters
s - ‘TW | SPACE FOR ROUGH WORK HindilEnglish
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14u.ﬂwﬂvﬂnﬁtmﬁmﬁq%mmﬁm

WY T E R 7

] HHER, " w8 <fim 1 g
(4) ahﬁm,wmqimﬁmﬁ
147. ﬁtﬁhﬁaiﬂﬂhmﬂﬂﬁmﬁﬂﬁ?%?
(1) wififs
AL T
(3) w3 iy
(4) faffem

1m.mmﬁﬁmﬂaﬁmﬁ,_w

T Terer @ 2
HEATTT

(2) i frwm

(3) TEgEEm

(4) s fafem

149, 38 % 3@ ¥ wvmm ¥ R aedt SmE s

e gl S wmm e 8 9
(1) FEeEED
A FefAB,
(@) fazim A
(4) fyftm E

150, Fefefian sfimymt 4 3 SRl e § Shn e &

147.

148,

148,

145. In which disease does mosquito transmitted |

pathogen cause chronic  inflammation g

Iymphatic vessels 7

(1) Elephantiasis

(2) Ringworm disease

{3) Ascariasis

(4] Amoebiasis :

Among the following sets of &n&mp}eal for
divergent evolution, select the incorrect aption :
{1} Forelimbs of man, bat and chestah

(2} Brainof bat, man and cheetah

(3) Heartof bat, man and cheetah

i4) . Eye of octopus, bat u:rl man

Which of the following is mel an auteimmune
disease 7

(1) Psoriasia

(2)  Alzheimer's disease

(3) “Rheumatoid arthritie

(4} Vitiligo

The similarity of bone structute in the forelimbs
of many vertcbrates is an example of

(1) Homology
12} Convergent evolution
(3}  Analogy

(d) Adaptive radiation _

[.‘um.e!rsiun of milk to curd improves. its
nutritional value by inereasing the amount of
(1) Vitamin D

2} Vitamin By
(3) Vitamin A
{4}  Vitamin B

T W g o 150. Which of the following characteristics represent
. ‘Inheritance of blood groups’ in humans ?
b, =R A.  Dominance
e W Wl b.  Co-dominance A
d. m T e.  Multiple allele
e,  HgdE Ty 4. Incomplete dominance
b,eH e ¢ Polygenic inheritance
(21 bdve {1} becande
(3) a,b 'IH [;}L (2) b, dande
(4) o, ewd & (3} &, bandc
(4) &, cand e
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IEE.ﬁHﬁﬁaﬁﬁﬁmmWwfﬁmmq
(1) s e -
(2) IS T
(3) i I
yidrdi &%

158, TN 1 8 2 5 o s 11 4w @ e e
T SR TR R N A ——
Hifam -

ey [

=y 1]
a  HIE i. Uv.BffEm
b, Bfeh oEiEE i, ﬂ:ﬁ:l@:
e Temrum (S we) il S A
d. gEEE iy, amfire Froes
a b L d
-){;/a'i i i v
m v 1 1L
(3 1 1 IV
(4) i it iv i
Aea, T dm o wgd b s A
- - qq:rqgimﬁm_mmﬁﬁﬁaﬁ%@%§|
(2) :ﬂm ﬁmﬁ_aﬁm.ﬂmﬂﬂ
|

(3) — ko R LR
(4) Wﬁmﬂﬁﬂﬁwﬁﬂ |

155. 'Wmmﬂmﬁ#ﬁﬁmﬂmﬁrﬂt?
(1) HE 8

=

155.

151, Which

152.

153.

gne of tha following population
interactions is widely peed in medical science for

the production of antibiotics 7

(1)
(2)
(3)
(4)

Commengalism
Paragitism -
Mutualism -
Amensalism =

All of the following ane included in ”Eﬁ.t-Eitu
comservation’ esedpt

(1) Wildlife safari parks

{#) Botanical gardens

{3} Bacred groves

(4) Seed banks

Match the items given in Column I with those in
Column 11 and select the correct option given
helow

Column | Column LI
@,  Eutrophication i. UV-B radiation
b. Sanitary landfill . Deforestation
¢ Snow blindness . Nutrient
enrichment
4. Jhom caltivation  iv. Waste disposal
0 b C d
{1} 2 i i iv
(2) i i i
(3 i il iv i
) i il i il

In a growing populationoef a country,

(1), pre-reproductive individuals are more than

the reprodustive individuals, Vi

reproductive and pre-reproductive

individuals are equal in number.

{3 reproductive individuals are less than tha
post-reproductive individuals,

{4) pre-réproductive individuals are less than
the reproductive individuals.

Which part of poppy plant iz used to obtain the
drug "Smack™ ?

(2

(1) Flowers
@ w93 (2) Roots
(4) el § (4) Leaves
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100 M 0 v i v o ofi i 166 Hormores seereted by the placents to maioigy

R preguandy aru
(1) hC@, hPL, m‘;ﬁ S {1) hCG, hPL, progestogens, prolactin
' [ trogens
(2) hCG, hpr e o (2) hCG, hPL, progestogens, &3
(3)  hC@, hPL ﬁ;ﬁm m@q’ S (3)  WOG, hPL, estrogens, relaxin, oxytocin
] ¢ B, ' . fim 4) hCG, nggamgaus. esliogens,
’5.” hOG, SRR, Tria, mm i elucocarticoids
157, mifmas ‘e 157. The cantraceptive ‘SAHELF
ﬁ"]}qﬁw & N . (1) blocks estrogen receptors “1 the uterus,
L (2) dsan IUD.
@ . IUD%'}(H (4}  increases the concentration of estrogen and
(@ e # TiEoH & WA Sl ==m P ud prevents ovulation in females.
FTEIEE ) Tt B (4) is a post-coital contraceptive.

(4) TR Tredys mitwes 2

168. The amnion of mammalian embryo is derived

Trom o
158. war W 1 Yo e o s e g 2 (1} ectoderm and mesoderm
(1) W U \'Mﬁudarmanﬂtmphnhlasl
(2 wersTER U T {3} endoderm and mesoderm

(4)  ectoderm and endoderm

(4) ST UE o 150, The difference between spermiogenssis and
: spermiation is

(i (1} In spermiogencsis spermatids are formed,

T E&W L e ’ while in spermiation spermatozoa are
S H I w8, i e A formed,

R Lo i (2)  In spermiogenesis spermatozon from sertol:

v cells are released into the cavity of

(2) EeE A e @ s 2 4 seminiferous tubules, while in spermiation

WIS ARemalt # afiw § A g R spermatozoa are formed,

i T i g o E : {3) In spermiogenesis spermatozoa are formed,

(3) ywuEEA 8 gEY S §, T I A while in spermiation spermatids are
T, ¥ formed.

(4) In spermiogenesis spermatozoa are formed,

(4) IR L T wi §, Tl TEEE k while in spermiation spermatozos aré
wEmE W owEe Wi # s released from sertoli cells into the cavity of

Ffermait &t fen # s g R seminiferous tubules, |
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# & W

rel : ¥ 160. Which of the following options correc
ﬁmaﬁaﬁmmimg? represents the lung conditions in astfima and
"Lﬁ ELEIEEDR ai]:q; T T H ) emphysema, respectively 7
(2} v wy N {1) Inflammation of bronchicles; Decreased
(@) AT, T W i respiratory surface
Hill;lﬁMﬁHf‘ = ; kb
Al vaEAl (2) Increased respivatory  surface;
St o Inflammation of bronchioles
(4) e e §  vaaE 13) Increased number of bronchioles; Increased
sy M respiratory surface
161, %9 13 9 wé s wy j B
I &y e (4) Decreased  respiratory  surface;
A fag , fame ﬁl;ﬁ#;ﬁg% e Tnflammation of bronchicles
G RE|
R ; 161. Match the items given in Column I with those in
ey B T Column I and select the correct option given
Pt ' below :
i I, L= wfee T unt ﬁf'lﬂ Column [ Column IT
K iﬁ-‘! a. Tricuspid valve i  Between left l!lutri'um
b, fEaerdt wom - LAY = and left ventricle
ﬂ Eﬂ S b.  Bicuspid valve _ii. Between right
veptricle and
c. Wi FWRE i =i s v pulmenary artery
fiem & W ; c. Semilunarvalve iii. Betwsen right
a b [ N}-’ atrium and right
(1) i i ii Ql. \J ventricle
@i i o W e T \\
A : i
@ i @ AR b U S
«.Mii ; i 2 i il it
3 i il i
162, =y [ # & mf wdl w1 vy 11 ) vl @ freme i reE i
st §= fn o fasedt 4 A wet Reen W oW :
182. DMatch the items given in Column [ with those in
Hifay . h in Co I with those i
; Sk Column 1T and select the correct option given
et ; below :
a,  FENE AR i. 2500 = 3000 fir =, Column 1 Column IT
b, ¥msEEgdEe 6 1100-1200 &R, a. Tidsl volume i. 2500 - 3000 mL
ST b. Inspiratory Reserve i, 1100- 1200 mL
volume
e B g il. 500 650 PL.¥A. c. Expiratory Reserve i, 500 - 550 mL
HTHH wlume
d. el s iv. 1000 - 1100 f . d. Hesidual volume iv. 1000 — 1100 mL
a b [ d a b ] d
(1) it i i w (1) i ii i iv
i v it it (2} 1 iv il iid
(3 i i iv i [ S T i w ii
4y v i ii i ) iw ki i i
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163, T I T & 7 we v 11 W & S i | 168, Mateh the items g}vm in Column I with those in
iR A Ry T Rl § O 6 WG Column 11 and select the correct option given
S below :
1' Column I Column IT
"Rl el {Function) {Part of Excretory
(&) (T A W ) System)
a SRR L e a. Ultrafiltration L Henles loop
b. =T HT A : b. Conceniration ii, Ureter
A W HE i, g o .
c. W AR il gErE e. Transport of iii. Urinary bladder
d. EWEET v, fedd e il
: d. Storageofurine  iv. Malpighian
v. THITEE Haford Aot : . corpuscle
@ b c d ' ; v. Proxmmal
(1) iv v i iii gonvoluted tubule
2 v i i i a b e d
(4) w iv i 1t v (2} « i i i
(3 i i i 1]
164. =y [ 4 2w 92 = e I sl o e i @ v W . il
afn = fau o feedi 4 @ @ fEen = o= ;
it - | 184. Match the items given in Column T with those in
Column 11 and select the correct option given
b e IT bakowr
a. T i, el gftew s W Column I Column IT
wR E . a.  Glycosurin i. " Accumulation of uric
b, T ii. gk i Tt e & acid in joints
Rve b. Gout it. Mass of erystallised
) galts within the kKdney
c. qﬁﬂ quit i, ﬁ 7 W ¢,  HRenal caleuli iii. Inflammation in
(fer e glomeruli
d, Teo gEENE v, T R E AR d.  Glomerular v, Presence of glucose in
nephritis urine
d
" h E ) a b ¢ d
@ ;s S oy B w4
L a1 I @ B i T |
3 i i il iv 3} i i iv |
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165. Ferfefian 4 4 ST o fivey
22 W WM F71| 165, Which of the following is an cecupational
(2)  wigherem (1) Amh::ams
ﬁf' : (2] DBotulism
(3) Silicosis
(4) =Tefify
! (4) Emphyzema
166. == -
-H{‘ Toft A § i TR % Wit aw 166. Caleium is important in skeletal muscle
e & WO W wfiE w ¥ gontraction becausea it
T E T R i e | (1) binds to tropanin to remove the masking of
(2) e 7 & i o W = A g artive sites on actin for myosin,
LA | H "
(3) vt w4 - {2) detaches the myosin head from the actin
© it ;h; B o ¥ filament.
N ¥ 7g % ww amin : & o
: z : 5 the mvosin ATFase by binding to
[ M o i3 ?tc:LwaLH my v by g
: , (4) prevents the formation of bonds between
AR R R § R e R filament,
Wi -
167. Match the items given in Column I with those in
&=y T e el | Column IT and select the correct option given
a w4 e sgem el
b ot Column I Column 11
' s a.  Fibrinogen i.  Osmotic balance
¢ A i, e Grenfaf b.  Globulin i,  Blood clotting
a | b c e Albumin fii. " Defence mechanism
(1) iii ii I \ \ o
(2) i it i i i :
3 4 i bt (2) 1 iii it
_/m/:J i @ i i
) il iii i
168. Ernofefign § & sl o= Siftrend swrw #9 | _ |
wmm-Feafy o weg el £ 7 208 Which: of e Olliwpli gote. celle Sndiveity
help in erythropoiesis 7
(1) == E-ﬂilﬁlllt (1) Chi .
_/ﬁ( I 1ef cells
} (2) . Goblet cells
@) (3)  Muoecous cells
() forer il (4) Parietal cells
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- i?
ich of these statements is incorree
169. % 3 m-mmi‘!-!?ﬁﬂ'?? i Whr]; of TCA cycle are present in
= oA & o g ol e (D) - hondrial et
B it is supplied
Glycolysis operates as long as it is supp
2} =rifakm T T dim § 5 % T8 T (2) mfi‘:ﬂ};ﬁﬂ that cart pick up hydrogen atoms.
SIS 9 TR o NAD firem 1w 2 | SR\
3 i ' lsmiimaiga e -
ﬁhﬂﬁﬂﬁ'ﬂﬁﬂiﬂ%l L horylation takes place in
() sniremi e
sl qﬁﬂm@ﬂm gHOH A A outer mitochondrial membrane.
I r
. jate with a single
170, Many ribosomes may associate :
170. g & Trynim TR mRNA A A9z #w meam mRNA to form multiple copies of a polypeptide
e & o shl ot § | e 6 ofi| | cimutancousl. Such strings of ribasomes are
T 1 W § termed as
e (1 Pl}l_'g'E-I]mE
2) efeEm (2) Plastidome
(3)  wEey five (3)  Polyhedral bodies
(4)  ®Fwmy 4  Nuclessome
. + Whi ™ ibe h
171. Fefifm § 8 93 affes e uEE | Eﬁmﬂ?m V' U /it
f‘]aﬁﬂ Hﬁ & : 4 {1} Thecodent, Diphyedont, Homodont
1) - i, R, s (2) Pleurodont, Monophyodont, Homodont
) e, B, (8)  Thecodont, Piphyodont, Heterodant
'“iﬁl_l' Eﬁmﬁ fermmrei 4] Pleurodont, Diphyodont, Heterodont
(4) o, Ramedt, frow
) 172. Select the incorrect match :
172. 7 o & s b ) Lamphrush  _ Diplotene hivalents
(1 .?fﬂl'gf ~ & chromosomes
HEFH? m (2) EuhmEME“tﬁt = L-Ehamd chrgmUEmg
(2) Il oA - THg theomosomes
@) Teim - (o ey | @\ Allssomes | ' gex chramasoies
W TEERIE - s § s (4} Polytene = Docytes of amphibians
173, e F fivx g fen s gl 8 0 v
AT T T 173. Nizsl bodies are mainly composed of
(2) ~fFaw s w6 SER (1) Proteins and lipids
@) DNAT RNAX, (2)  Nucleic acids and SER
(4) T TErEm v RER"H- (3) DNAand RNA
. () Free ribosomes and RER
174 T% Vi W (RER) 4 P § @ "
Rl {174 Which of the following events does not occur in
{1} T T rough endoplasmie reticulum ?
O S—— (1) Protein folding
@ e . (2} Cleavage of signal peptide
(4) mh - (3} Protein gt}rmylatiu.n
- 4} Phospholipid synthesis
ALHCAMW o
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175, B 3 e ety

175, Which one of ‘these animals is nof a
H =g homeotherm ?
e (1)  Maocropus
f:ii = {2y Camelus
; - (3) Chelone
@ 4 T8 e |
Ny 176. Which of the following features is used to identifly
y/ﬁmﬁ!mﬂm% P T amalaq:uckmaﬂhfmmaf&mﬂiemkma:h?
Fieaf | (1} Presence of a boat shaped sternum on the
(2) TE AT SeEE Wi am v o' shdominal segment
‘ {(2) Forewings with darker tegmina
(3) it
T () Presenceof caudal styles
(4) TR i e {4) Presence of anal cerci
| 177, TR TR F W T ) weam S A wg) | 197 ldentify the verigbrate group of animals
e 7 o e v fird g safieii € characterized by crop and gizzard in its digestive
~ gystem.
(1)
(1) Amphibia
Eﬁﬁf 3 (2}  Aves
b {3} Haptilia
Wﬁ"‘ﬂ" = ) et & e wer M 8 2 {178 Giliates differ from all other protozoans in_
(1) 3 3 fory e = 9 (1) using flagella for locomotion ;
(2) & o = A 5 Few, e 6w w0 (2) using psendopodia for capturing prey
(3 T wife o # R & o e {3) having a contractile vacuole for removing
e i excess water
yﬂ“ it By & g Ead (4), having two types of nuclei
179, Frefafes &4 98 <9 e H e TS i [ 179. Wilﬁth of the following organisms are known as
I I E? : chief producers in the oceans 7 \
(1) TR “1 Dmuﬂahi&]ln.’r.les
(@) A ) Gymmaiioy
- 4} E i
. 180, Which of the following animals does no# undergo
mu.ﬁ::f%ﬁ?rﬁaﬂﬁm:ﬁﬂm:rﬁmﬁ? Ui SRS
(1 Fg (1) Earthworm
(2) wia (2) Moth
_,«{ﬁﬁ/ i {3) Tunicate
(4) wnfEN (4) Starfish
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